PENGGUNAAN KALKULATOR

1. Hierarki Perhitungan & menghitung dalam satu sekuensial

- Example .

Operation

45

, ‘Display
2344.5—53=—25.5 23634 55300 . -25.5
55>_<_(_—I2J—!—_\-(—2.5)ﬁ268.8 56E3=128@() 2. 5@ 268. 8
12369 X 7532 % 74103= ' I2369B?532ﬂ?4103@ 6. 90368061312
6.903680613x 10 ' Exponential display
(6903680613000)

(4.5X107) X(—2.3X107)= | 4.5675E2. 369796 1. 035-®
—1.035%10° '
(—0.001035)
(1X10°)=7=14285.71429 169504 768 14285. 7142¢
(1X10%) =7—14285=0.7142857 160583 7 B11428500 0.7142857
3+5X6=33 JEB5EA6E 33.
IX8—4X5=16 7TBsR1E 56 36.
1+2—3X4-5+6=6.6 12E3B4E50860 6.6
Example ‘Operation | " Display
100—(2+3) x4=80 1000263 3!34 80,
243X (4+5)=29 2@3EA0AEsE 29.
*You may omit closed parentheses which come immediately before
the &8 key (no matier ‘how many are required}.
(7—2)% (8+5) =65 O7E200e 56 65,
*You may also omit E3 for the multiplication operation immediately
before an open parentheses. -
—RHIX(3+6)i=—585 | OEC2E7TOIMEE -55.
*For the sake of clarity, all closed parentheses and E3 key opera- SR
tions are shown in this manual, whether they are required-or not.
2"3+“—(2x3+4} £5=2 0203@40E5E 2.
5X6+6XD - . SEcE3 eI
XA TIXT n_ 3125 ral] > Y + [ x E:foyl | 5 8125
Q1563 4 B2 30)EE 0.
Ly an
{1.2x10")— 1{2.5X10°) | 2EHE 02,568
X3l =4.5%10" 2063 32410000 4. 5%
——U 3 6.@4!!5@- 0 3

*The abcwe |s the same as 6.4.5[5!3

Example 1

3x4=12, continuing with /3.14

3E34
{followed by) B3 14

Compare: 1 /3x3 )
1.3, foliowed hy. %3
1383
104306
(followed by) E¥ 3 €

12

12,73, 14_

3.821656051

i.

0.333333333

0.999999999




2. Menggunakan Ans

DEEREEEE
BHEEEEHm)

(8

2 xAns
Ansx(5+3)

=

570

789 -~Ans__

210,

=] +ENS

3. Jumlah angka desimal

4. Angular Measurement: DEGREE, RADIAN, GRADIEN

Display

e Exqmpie Operation

4,25 raldié'ns to éegrees ) (ance) () — @ "

4. 25 (e ()5 243. 5070629
1.23 grads 1o radians e - m"

1. 23 G o € ) ) 0 019320794
7.89 degrees to grads pEEE— "

7 . B9EFmee(a] ) 8. 766666667
Resuill in degrees froa @) B — " m”

47.3°+82 Srad=4774 20181 47 . 3 E82 . 50 Feoe (5 Ex) 4774, 20181
12.4°+8.3rad— 1 .Bgra= 12. 4638, 3EmmgSE
486.33497 | 1. 3EDFEREEND 486, 33497
“ Example

‘Operation

" Display

Aesult in radians
24°8'31° +85.34rad =
85. 76077464

Result in grads
36.9°+41 . 2rad=2663.873462

WEE-m

24559 6 B3 1 B
i (2) E385 . 340

EeE- e

36 9EIEEI 1.2 EE
EED

85. 76077464

2663, 873462

5. Fungsi Trigonometri
Example Operation - Display
SIn6352'41720.897859012 EEE- o a
7 635264100 0. 897858012
cos(%ra&)ﬁﬂ.s ' @@—’“Iﬁ" ' :.‘ I .-
EOEDEIDE 0.5
oy L s ..
tan{—35gra)=—0.612800788 | EEEE—‘@m" o
G350 ~0. 612800788
2:5ind5" X cos65' = 0.597672477 | EREDE—m" I
T 2 EIET45EAR16500 0.597672477
o LT Can be omitted. <
sin, 5=30" EFERI0, 5 *30,
(_Find 1he value of x when sinx=0.5) L,gan_:_b'e entered as .5.
dosL-2=0.7853981 58 rad PREE =R o o
SR P SO w00 2 2 O - 0.785308183
T Gz 0.249999298
tan"'0.741=36.53844577° mOE—'m" - '

i
B

" =36°32'18.4°

EE0. 74100
G

'36,53844577
36°32°18. 4




6. Fungsi Hiperbolik

. Example -Qperation - Display . -
sinh3.6=13.28545536 . 56 ' 18. 28545536
cosh1.23=1.856761057 D1 . 2360

tanh 2., 5=0.986614258
cash | . j—sinh], 5=
0.223130i6

. - =e_1.5 .
{Proof of coshxxsinhx=¢e* *)
sinh™'30=4. 094622224

cosh l(f—g] =0.795365461

Vs_:_lue'of x when tanh 4x=0.83
meo
w20 088 343041914

sinh '2Xcosh '] .5=

. 1.389388923
sinh"(%)-»—ta@hj[%) -
- 1.723757406

(w2 . 5050

Prlies) 1 . 5 EEmEN T . 5EE
(Continuing) [ E(mEE

EEE 30 E
PEED015DE

EBEDER0. 3584 BD

T2 BB
@158

FDEEE 2 6 3 DB DE
@O 45O

1. 856761057

- 0.986614298

0.22313016
' 1.5

4. 094622224
0. 795365461

0.343941914

1.389388923

1.723757406

7. Fungsi Logaritma dan Eksponensial

. Operation

o Example Display.
log1.23(log.ol .23) = @1.2369 " 0. 089905111
8.9805111X10°* o )

In90(tog.80) =4.49980967 {in} 90 B9 . 4.49980867
log456 = Ind56 =0.434294481 - (59456 ¥Alin) 456 0. 434294481
104°=16.98243652 G 1, 23 66 16. 898243652
{Anti-logarithm of common logarithm 1.23} o ~
5=90.0171313 | amEes® 90. 0171313

(Anti-logarithm of natural logarithm 4.5)

10% '+ 1.2+ 107 =422.5878667

F=720

=204
5.6%°=52.58143837
YTZ3(=1237)=1.088547795
(73—28)*=1305111829% 10
14X YEI—4=10
7%8.4°""=3306232.001

) 4 EVEDEIE ¢ 621263
Ereedz . 3Ee)

3@ 66D

28 1=1E

5. GEFE2 . 3IEE

78012369

O78@ 23R 125
2E3E 34
2613, 4EMEAD 5 €26, 7100

8. Fungsi Scientific yang lain

422. 5878667
. 729.
2048.

' 52.58143837

—

1.988647795

. 3051118292

10.
3306232, 001



v Example- - Operation Display -
V2 + /5 =3.65008154 A2 @Fs® 3. 65028154
2B 4TS5 biea -+ kel + Dlesil + Bdew) ) 54,
%-l*=72 O3E—4ED0EE 12,
BI(=1X2HIN- KE)= 8 EAE o 40320,
S 40320 | *With the x-5000F, press [0 E. L
VIR RATED =42 EEO36EI 42E3 490 42,
Random number generation
(pseudo—random'ngumber from (Ex.) .0,.792
0.000 to 0.999) ‘ S
TR+ T =17 F0 13ER 5 DB _
o DIPEdEDN 17.
VI—sin®4" =0.766044443 D E—"m" i e

- =costl’ D0 BOE0LIE L 0.766044443

(Proof of cosf =~/1_sin®) (Cortinuing) ) R k6D : a0’
TRt Rt elain] - D) + DS
S EZIER 8 @ LB

0.543080357

*With the fx-5000F, press

' 0. 543080357

Apsolute value of common . | (EEIEIE] 3 K@ 4 DEE 0. 124938736

logarithm .of%. o o : ;

’Iog%l =0. 124938736

9. Sistem Basis
Example Operation Display

Decimal equivalent of 2A. and =EE—"d"

Bl EDE12AE 42, ¢
EnEl274E 188.

Hexadecimal equivalent of 1230 ElEm—h"

and 1010z 12388 7b.
() 10106Y A

QOctal equivalent of 15 and eEE— 0"

1100 EE 156 25. 0
'@liﬂ'ﬂ@l_ k 14, {:>

Binary equivalent of 36w and [EBI— 5" . '

2GoEfe G366 ~100100.
EEmI2CE 101100.




